
Ar Meeting
Oct	12,	2017
Hongxia Dai



Keep	calorimeter	cut?



New	optics	from	Longwu



VDC	efficiency
• None	zero	track	ratio:	R1
• Cut1:	Trigger,	pid cut
• 𝑅1 = #%&%'	)'*&	+*,-.	'/'%+0

#0,123'	'/'%+0	4

• One	track	ratio:	R2
• Cut2:	Trigger,	pid cut,	acceptance	cut
• 𝑅2 = #(&%'	+*,-.	&&	8.+*.+:_<	=>+?>%	@A)'/'%+0

#0,123'	'/'%+0	C

• Efficiency=R1*R2



R2

Cut	Now:
The:		[-0.045,0.05]
Phi:	[-0.027,0.022]
Dp:				[-0.035,0.03]

Cut	Before:
The:	[-0.05,0.05]
Phi:[-0.028,0.028]
Dp:			[-0.035,0.03]


